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T B! THTYREH] shifih qreAl Iawfeher fafire St Iqwafrade geyam 7 faawe T g &l

(31) A1 TRl Jod JIIeT 4 Tt W gafae] T WA 1, 2, 3 M 4 3 AT fored SR,
1 IR IT(Geh! Fatq dF A1 FHHw ST ARadd GEITHT0 A=A ITATFHaX TS HIAL. ST
YRR STRARER SR TYE HAMT A1 Galferd TarAIHHR BTifhd HE Svifoel Fga ar= st
T}, ETeR AT e Shieedl FTTEY SIeTus aTuwrd, Uf-aer ar yIige U arues =74

() ET var famamEEt et i) gust wrean fafed shoiet e @ fawaren vde w9 wet sie
FUSH WA ST BTIUETT AT 3. THE ST fohal ATt YT YEUTRISTHGS ST
AT gl 4
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fagen 9T w9 Wieand. wUH TR S SavRl TR UV UEreT Y9 HAUT ey &ray 3 7

@A Jeiehe TAU HIgwht 3.
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®) IIRaEHed fafed solear faftre Arfa &=t &M (6 ) . TIYRRATIRER Saaahal al
T HIEIER el 1T hedTd d 1Al HOATAT I hel 37, TH A A o AR UG
IRAM SR Feled  aained B IRyRRAT Hide smoaEedd sTfufam-g2"" andie TgEgaR wRas
O AA 9 SNl K] HHS Teh THET HREMEAT A0/ fhd1 T8 Teh TR WHAT cere fdieg
RIEREH

(9) TSR FHUAHAR! R fafegd Folcl dos TUeaHaR SN & FYAYNEHT Ta: aiaR. THeTeheT=et
e UM WA SR, WA UUeT sheITETey SUATgE! SHEEH STUedT STuiaeh el -1
TAHAYIRTRS T T W 0T avaeF 3.

YIS, 201, Gl A1el T FUGTEE] iUl qod: TEA el ?
(1) @ EFHR T 2) SveER fqEmEmR
(@) ST AR T ) TTeFET TEd

B U A 3T (3) TS THERA [T O AR, e A W W (3) wRa
IS GIATATHAT 956, 201 AT ST-FHi% NOR % BMifead & Srafan ava

e,

ix20. D Q@ @ ©®

3T UGdH YR TTRaehalel Yoish TeTEl QT SAGRATh &l Jrelel Wil qiaee
IAW el 1 1 ITTRARHERGE Heifyd ade quisl sEifed &5 Sraaml.  grehial we
THTGAT M AU aToTd.  Af-Iet & ymge U 9% =14

THAGTRTEAT FAATTAT § TS A T

P.T.O.
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1. Sk + %k O A=12345
Wk + O kA=?
(1) 12345 (2) 54321 (3) 32451 (4) 32415
If %o + ¥ O A=12345

Then % + O *k A=?
(1) 12345 (2) 54321 (3) 32451 (4) 32415

2. @eiads! fooien fadmess SIvh ST I qehaTd o7 ?
faam . SR A= A ARSI i UiEd d W SerTeIe! Ao SiasT
YHIOT HHT BlEel.
AU : () AIGIUNS Bodel SIS THIOT Ul Bid.
(&) 91 YEHUTH At YRI=AT Sneiad g g,
LRIRIE
1) ®® (1) 7 e qeheTa o7,
2) W (J) g =R GohETd TR,
3) o R qehETa ST,
4) T TRy qEHET AT

From the statements given below which conclusion is logically correct ?

(
(
(
(

Statement : If the rate of air-pollution grow continuously at the same rate, then the
essential oxygon proportion will be reduced in quantity.
Conclusion : (A) Due to air-pollytion oxygen proportion will be reduced.

(B) Due to air-pollution human body development is affected.

(1)  Only conclusion (A) is logically correct.

(2)  Only conclusion (B) is logically correct.

(3)  Both the conclusions are logically correct

(4) Both the conclusions are logically incorrect.
3. TRERIRM _ @rg AL R & e A afssaiEns! 9 o,

(1) 0.19 (2) 0.50 (3) 0.75 4) 0.90

In Maharashtra the area suitable for brackish water fishing is lakh ha.

(1) 0.19 (2) 0.50 3) 0.75 (4) 0.90
4, TRRILM YUK AT Gedd WO g A9 3R,

(1) wred, Tt (2) e, fayg

(3) HEdd, g 4) "o, o

The research centre for betel nut in Maharashtra is situated at -

(1) Bhatye, Ratnagiri (2) Vengurla, Sindhudurg

(3)  Shrivardhan, Raigad (4) Ganeshkhind, Pune

P.T.O.
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AT AR I eR S0 &l SeArEe! feet o ?

(1) 9 Far (2) efore TUTE

(3) e HAEA (4) wifgea

Shantiswarup Bhatnagar award is given for the contribution in which field ?
(1)  Social Service (2) Academic Excellence

(3)  Scientific Research (4) Literature

AT fauTET STAN R qAR ol WEiEEE W wn fowg 1o 3R ?
(1) 9T A &7 (2)  THI A0 &=
(3) eewd (4) WM

Cobra Venom is used in the preparation of certain ‘Rasas’ which is effective against which

of the following ?

(1) Cholera and Tuberculosis (2) Asthama and Typhoid

(3) Diphtheria (4) Influenza

TR SO A= A [THT=A1 G HIvET el fEd ?

1) A wrerEt 9 (2)  AHTE "y

(3) iearH! 9H (4) AT RREdE W

Where the deficiency symptoms of boron and calcium observed in growing plants ?
(1) Older leaves (2)  Midrib of leaves

(3) Terminal leaves (4) Portion between midribs

T 2009 #ed demg fohan SARITEER 14 & SrTde 9 49 U St ?
(1) (2) TTE (6) (4 fewetl

The 14th World Conference on Tobacco or Health was held in 2009 at

(1) Mumbeai (2) Bengaluru (3) Indore (4) Delhi
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(1) ‘p (2) qv (3) “v (4) qp
Problem figure :

~

A AR Ry AR

Answer figure :

D DD &

10.  a% 2009 =1 Ipte AR . AR [WHR FOMH S0ATd HTAT ?

(1) e = (2) o s

(3) T FER (4) it gEsit

Who is awarded V. Shantaram award for the best actress of year 2009 ?
(1) Priyanka Chopada (2) Vidyabalan

(3) Karina Kapoor (4) Rani Mukharji

11.  §9 2009-10 =T SASTSTIAHKTIHTC] AiEeTHIE] S Sca=1d] Fafel Wieiiel JHml 378,

(1) 1<9™@ (2) 15<™ (3) 1694 (4) 19d9@
Following is the tax exemption income limit for the women as per the Budget of 2009-10.
(1) 1 Lakh (2) 1.5 Lakh (3) 1.6 Lakh (4) 1.9 Lakh

12, ‘X SETEET HIUCET G 9 GO SIS A1 R ?

(1) ¥Ra- it (2) HRI-STEAT 3

(3) YRA-HATEfCES (4) HRG-9TeR &I

In between, which of the two countries “Moore’ Island dispute is going on”?
(1) India - Shri Lanka (2) India - Bangla Desh

(3) India - Maldives (4) India - Pakistan

P.T.O.
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13.  Ed $HATS Sl B oTd S UMM SH9d B,
(1) faea (2) el (3) emivas (4) TEER
While burning fuels which energy is converted into heat energy ?
(1)  Electrical (2) Sound (3) Atomic (4) Chemical
14. o 99 Grsfauarard], fawaasie Su 3.9, 1966 TE IR IISHl G& hell ?
(1) < widl (2) =R Il
(3) WHS widl - (4)  T9T it
What was introduced by the developing countries in 1966, to solve the problem of food ?
(1) Red revolution (2) Green revolution
(3) White revolution (4)  Yellow revolution
15. ‘e Ty’ e fawera S e AT Gl fera 3T,

(1) TEH, e, s Nl scTHes 3 WUihe Wi qeftarst e e
(2) wH gard! Hart e
(3) de faem

(4) a3 g

Kasturba Gandhi Balika Vidyalaya scheme predominantly belongs to

(1) Residential school at upper primary level for girls, S.C., S.T., OBC, and minorities.
(2)  Only for Boys Residential School.

(3)  Adult Education

(4) Technical Education

16.

TS 79 A1 A3l SahT A6 BIHER Feil 378

(1) 3= SR dre, e FHer.

(2) fafay Jmada fz=o

(3) FRieT=al WS AGAAME e .

(4) lerdEt w6,

Major national achievements includes very significant increase in
(1) Food production, poverty eradication.

(2) Control of several diseases.
(38) Increased life expectancy in our citizen.
4)

4 All of these.

17.

117" 1995 Jsit FHER 3T, a1 ATH 1996 TS HI07eT TR T8 ?

(1) TER (2) AR (3) AR (4) TR

If Wednesday falls on the 1st of March in 1995, which is the day on 1st of March 1996 ?
(1) Thursday (2) Friday (3) Monday (4) Wednesday
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18.

9

&€ (NABARD) & Y& WTeial ST fashmmhe @e .

(1) wed faw™ (2) it = 7eior forerr

(@) focsht s fowm (4) Sienfir faem

NABARD prominently pays heed to the development of one of the following items.
(1) Urban development (2) Rural and agricultural development

(3) Development of foreign trade (4) Industrial development

19. ST Halfd HiS! | STeg FA0N YRA HIS Tia Hedl 3R ?
(1)  =hicTshral (2) fred (3) WIS (4) fere
Where is the world’s largest solar steam system installed in India ?
(1) Kolkata (2)  Shirdi (3) Bhopal (4) Chandigarh
20. MEERIEY FEF0 #X0) § iVl Y=efte Fee Yaad el wal Tod e B ?
(1) wigedn (2) TEA (3)  wre (4) =N
Which five year plan for the first time had declared the objective to combat inflationary
pressure ?
(1)  First (2) Second (3) Seventh (4) Ninth
21. 631 A=A gerid 7 =1 Arsd e St AR geat feafa o gt ?
(1) dreet (2) T el
(3)  §m el (4)  ofeTRT TRE
What was the position of annual average of trade deficit in VIIth plan as comparing to
VIth plan ?
(1) Increased (2) Decreased
(3)  Become equal (4) None of these
22, Tor@ = 023 fovq oo @ 2.
(1) =if® seHe 2) @l Seme
(3) THfeE fEd eme (4) T S
In electric bells electric energy is converted into :
(1) Mechanical energy (2) Sound energy
(3) D. C. electric energy (4) Magnetic energy

P.T.O.


Admin
Line

Admin
Line

Admin
Line

Admin
Line

Admin
Line


10 DPS

23. T4 YSUUMYeS BIVIRAT ST SRI=AT &1aTes ShIvTd] JILomd i ?
(1) = Fehim (2) U
(3) g s (4) TR |
What is the effect of ozone layer depletion due to air pollution ?
(1) Skin cancer (2) Cholera
(3)  Brain Tumour (4) Diarrhoea
24. HieR 4 HEA
(1) M o S i SHeid 2.
(2) shwite Feta SR i el 2.
(3) HR e B A el 2.
(4) R A B fogd et 2.
In solar cell .
(1) Photon Energy is converted into Heat Energy
(2) Heat Energy is converted into Mechanical Energy
(3) Solar Energy is converted into Kinetic Energy
(4) Solar Energy is converted into Electrical Energy
25. 1 HYTHTAT AIHes STl defi=l SHER o6 oiee, FeHRU BV Slesaral
farepre 2.
(1) ¥&E (2) fSeie® de
(3) TEEISH EAEE (4) aTde! THE AR
The hormone is used to suppress the vigour of grape vines and increase the
fruitfulness of buds in grapes.
(1) Cycocel (2) Gibberellic acid
(3) Hydrogen cynamide (4) None of these
26. TSRS Ho A foreRia sAfa 3.
(1) Tl (2) wem () faygd (4) eTRIel
Production of island fisheries is more in district.
(1) Ratnagiri (2) Bhandara (3) Sindhudurg (4) Akola
27. 1989 |l TG @lehi USFIR Hare T Hhivwd! Jis g& e 7

(1)  STETe TSR ST (2)  USTIR BH AN

(3) T Tl weeteA AT (4) SUdH! AR

Which scheme was introduced in 1989 for employment of the below poverty line
people ?

(1) Jawahar employment scheme (2) Employment guarantee scheme

(3) Sanjay Gandhi self reliance scheme (4) None of these
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28.

11

FREE faumay=t gure 9@ foad ?

(1) 75 (2) 78 3) 80 4) 81
Total Number of seats of Jharkhand Vidhansabha (Legislative Assembly) is :
1) 75 2y 78 (3) 80 4) 81

29.

BT, YSTed SIE Al HB SESAE S B 2

(1) <vH@ (2) “hcH (3) e (4) HES
What was the original Surname of Dr. Panjabrao Deshmukh ?
(1) Deshmukh (2) Kadam (3) Patil ' (4) Mahajan

30.

Greiierde! vl HiauH e fauraiucet gyede deitd faumas=n avmeHe=n
%ﬁmﬁwmﬁ,aﬁw%ﬁ?
(1) e (2) wawE (3) VgaTeeEal (4) UERTEE!

Which of the following constitutional amendment provided that the total number of

1
members in Legislative Council should not be more than 5 the total number of members

in Legislative Assembly ?

(1) 7th (2) 17th (3) 46th (4) 71th

31.

FEY 29 TR 2009 AT .7 T . -C14 AHYT Tt ITIR STeHTE Ted ?

1) =W 2) = 3) §d 4) T
ISRO on 29" Sept. 2009 launched P.S.L.V. — C14 with how many satellites ?
(1) Four (2) Three (3) Seven (4) Onme

32.

YRATT 2009-10 a1 AT auia TrER=1 fhadidia STTUfed Hiaere T a1 RS e
(1) wrmidd a6 (2) HrAl fdHHdlda ae
(3) FEWE B (4) U ORARS T

In India in financial year 2009-10 the unexpected rise in sugar price was due to one of
following reasons :
(1) Increase in demand (2) Rise in sugarcane prices

(3) Decrease in import (4) Less production of sugarcane

P.T.O.


Admin
Line

Admin
Line

Admin
Line

Admin
Line


12 DPS

33. R TEUEH STahe 2 fon. . Frad e G 3 .. SEiee T e aA @ 6 fh
TS FEd Tl R A THEA fhdl SITe TR
(1) 2 feH. (2) 3 fedh (3) 4w (4) 5 TR
Rojar goes north from Church 2 kms then he goes 3 kms towards his left, then again he
goes left 6 kms, so how far he is from the church ?
(1) 2km (2) 3km (3) 4km 4) 5km
34. A=A TEHRTAT THUT Siel=a THIOT HERIET=1 AHTT=T Tisli<l Sahar] fohdl 318 ?
(1) 931 Tk (2) 10.42 %% (3) 8.90 TFh (4) a1 et A
What is the percentage of the length of Maharashtra’s Railway Track to the total length of
India’s Railway Track ?
(1) 9.31% (2) 10.42% (3) 8.90% (4)  None of these
35. vl Wt do =T’ A1 A sfaria I Sete U W Fd ST
(1) A 3RERTH 4. (Jain Irrigations Ltd)
(2) eI aA fa.
(3) U Fihwey 3fve wiZamasr fa.
(4) . fa.
Name the private company which initiated the ‘Chaupal” scheme for marketing farm
products.
(1) TJain Irrigations Ltd.
(2) Tata Tea Ltd.
(3) Rashtriya Chemicals and Fertilizers Ltd. (RCF)
(4) LT.C. Ltd.
36. TRIST s foemm areae AT
(1), = ATeata (2) 9T g
(3) Al W TR @) . fadem
The present Chairman of Planning Commission is .
(1) Dr. Manmohan Singh (2) Pranav Mukharji

(3)  Shri Sharad Pawar (4) P. Chidambaram
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37. Wil asien faur 9.
(i) WRAM oTue dfeel Tysaforfed =iga-1 Jafad el oTR.
(i) URA TaR T TR Fehtd wed Jfasaa derdsat afiys vy Jom o,
1) (@) 3 (i) I = AT (2) HaE (i) T 3R, (ii) T TR
(3) A (ii) IEL AR (i) T AR, (4) IR () T (ii) TR ITRA.
Consider the following :
(i) India has successfully launched its first unmanned mission to the moon :
Chandrayan-I
(i) India has joined seven other nations to team up for future exploration of moon.
(1) (i) and (ii) both are true (2)  Only (i) is true, (ii) is false
(3)  Only (ii) is true, (i) is false (4) Both (i) and (ii) are false
38. NET:KBQ::JPTX:
ﬁﬁﬁ@ﬁﬁ%ﬁﬁ%m@ﬁﬁav@wﬁaﬁm%mﬁ%maﬁm?
(1) HNOT (2) HMQU (3) MHQU 4y HOMU
NET : KBQ :: JPTX : :
There is certain analogy in first two words, which is the word in the blank space ?
(1) HNOT (2) HMQU (3) MHQU (4) HOMU
39. Sl Afees TR WIHEEE WA vl Hel ?
(1) STeBaTe S (2) STTENY WHES
(3) S 9IS TN e (4) < gL
Who has founded Bombay Native Education Society ?
(1) Balshastri Jambhekar (2} TJagnnath Shankar Seth
(3)  Dr. Bhau Daji Lad (4) Dadoba Pandurang
40. 13 = o SRR Teae 0T AR 7
(1) i fasu e, 3R _ (2) &1 . e
(3) & % ©1. ¥q (4) . 3, &1 ==
Who is the Chairman of 13" Binance commission ?
(1) Dr. Vijay L. Kelkar (2)  Mr. C. Rangarajan
(3) Mr. K.C. Pant (4) Mr. Y.B. Chavan
41. ¥NaE gfed =g S, Sgam-1 ol dvan ariices & °g ged 7

(1) 1 3[72009 (2) 29 AT 2009

(3) 23 ® 2009 4) 1 Tt 2009

When did the Indian made moon mission, Chandrayan - 1 ended ?
(1) 1 June 2009 (2) 29 August 2009

(3) 23 May 2009 (4) 1 April 2009

P.T.O.
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14 st’
FU AT TEAFSA qHU ARAT feesh T THehiar AR SHaRt 2010 9&d Siomd
I SO ST ?
(1) AE I (2) dud ™
(3) HSg AN (4) < HITA

Who was honoured by Kesari Maratha Trust with the second L.okmanya Tilak National
Journalist Award in January 2010 ?

(1) Shekar Gupta (2)  Mr. N. Ram
(3) Sanjay Narayan (4) Chaitanya Kalbég
43. el weil WION 7R, Wel AR WO SeA. A WifedeAn U Wieteria! Hivn faum ffvea
T S Y T e IR,
(1) RIS STTRTT 9&TT ST, (2) we yIoft vaf eed.
(3)  hTRI WTOT SR TR (4) TS TaT STTRTET ST,
Some birds are animals, all sky is animal then which of the following sentence is correct ?
(1)  Some sky is birds (2) All animals are birds
(3) Some animals are sky (4) Some birds are sky
44. Ty Siieswn

H D TR

(2) (3) (4)

Find out an odd :

i

(2) (3) (4)
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45, WRAME RATIRE (Balance of trade) @ AT TRl STATHes IHe TTel.

1) @ ad (2) fade (B) F=ER @) @i da

India’s Balance of trade is not favourable prominently due to the import of one of the

following :

(1) Edibleoil (2) Cement (3) Foodgrains (4) Mineral oil
46. FH oI SRR TG T qreft e,

(1) 1955 (2) 1965 (3) 1975 (4) 1985

Agricultural Price Commission (APC) was established in the year __

(1) 1955 2) 1965 3) 1975 (4) 1985

47. SR A FHon=a s gl SO Y] 180° 3R, T A 3 TS =T ShiFI=A1 ATATE! s fohd] ?
1) 360° (2) 270° (3) 180° 4) 90°

If sum of the measures of angles of two triangles is 180° each. Then what is the sum of the
angles of the AXYZ ?

(1) 360° ) 270° (3) 180° 4)  90°

48. <o (24) AT T diel w12 (W, fafte 9 ) wawnw fRdl de sedle ?
(1) 2d9a (2) 4d@ (3) 12 9 (4) 24 9@
How many times in 24 hrs all the hands of clock (seconds, minute and hour) will meet ?

(1) 2 times (2) 4 times (3) 12 times (4). 24 times

49, fEwdider ae=n Qe I TRoms oTHq.

1) T g ared (2) G HIEET B

(3) OTRTE T Bl (4) ¥d gl wH g
Following is the main effect of rise in prices :

(1)  Value of money increases (2) Creditor benefitted

(3) Debtor is put to loss (4) Saving tendency is reduced

P.T.O.
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50. YRATE Hehdid SIad SISt AHIV YR ohel STTd HROL
(1) 3yfTe TATH AE! WHI fIqmH e R 997E 9 wehal AL
(2) YR T AT fI9RTed STEelen YU
(3) TOE AT IS TSI IeTHS A6 AT,
(4) ! THET TR
India’s real culture is still preserved in rural life because :
(1) New advancement of technology has not much influence in rural areas
(2) New advancement of technology has influence in rural areas
(3) Poor people are moving to urban areas in search of employment
(4) None of these
51. Uehd VAT TAEE FE HLd 7
(1) o ) 3=t
(3) Y@H g (4) IV Ham
Rocket works on the principal of conservation of :
(1) Mass (2) Energy
(3) Linear momentum (4) Angular momentum
52. WA UF s MATE! Aeaad! o 3.
(1) e d* A sfea (2) o &% =iw e
(3) Few 9% it sfemm (4) A &% A ghem
A bank stated below is the Central Bank of India.
(1) State Bank of India (2) Reserve Bank of India
(3)  Central Bank of India (4) Union Bank of India
53. UM 3T Hifgd=n 2w 71 3.
(1) =T g
(2) FTTH
(3)  wfhror forenTeTe ST HeUT o SRy
(4) wSHTE

The aim of Gram Abhiyan Mohim is

(1) Tax collection

(2) Entertainment

(3) Participation and awareness of people in rural development
(4)

4 Debt waive

8 i - B e AR e
e AR RO S T R o
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54.

17

YR MPpcameie Heuman faar & fau=n sepdiel Hee STaum Steft sTehd! SRt 7 .

+|0 * || = * o)
* = |20 O+ )

»* | < * O »* |+ O|=
(1) Tlo @ >T% G o> @ T

Considering the relationship between figures, identify the fourth figure related to third
figure :

+ O | *|X]| |=|* "
> [2]0] |O|x :

| < ¥ |0 == o) B
1) +lo (2) N ® o > (4) ™

55. U woRd WAL wioft wor o fHet o,

1) 10 2) 100 (3) 1000 (4) 10,000
One hectare cm is equal to m? of water. ‘
1) 10 (2) 100 (3) 1000 (4) 10,000

56.

R ' TeufEgl ® e Wi UEt o fefee at‘ sreHeTR’ § e w4 ferdiom ?

(1) TegTIH (2) AGHTRE (3) TTRARGHT (4) STHAREET

If ‘Ralegonsidhi’ is written as 'Rlgnihaeardi’, then how to write Ahamadnagar :

(1) Adahenagarm (2) Nagarahemad (3) Ahadgaemnar (4) Aaangrhmdga

57.

fed{or 2008 &1 AhiRHEA YRA 707 SATTAT (ASEAN) ATATHE HRIVAT ST E FIR FHI0AT
3T ?

(1) HW&u W (2) HIEHaH RA-TEH HL

(3) TH AR FW (4) snfras FIR

In which area an agreement between India and ASEAN was signed in December 2008 at
Bangkok ?

(1) Defence Agreement (2)  Cultural Exchange Agreement

(3) Free - Trade Agreement (4) Nuclear Agreement

P.T.O.
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Wﬁﬁﬁwmw,ﬁmﬁwaﬁﬁﬁHW?

v B v 57n » @0

Which diagram given below represents best relationships among Male, Female and
Teachers ?

(1) (}@ O Q @O (4)

59. ‘TG AN G SO 07T e ?
(1) =& T (2) Sl RS HHSH
(3) i ®d (4) 1. 99EE WG
Who established the “Independent Labour Party” ?
(1) Mahatma Phule (2) Dr. Babasaheb Ambedkar
(3) R.D. Karve (4) Dr. Panjabrao Deshmukh
60. ( ?) v Temgrear it eivrd! weAm 4ge ?
12 30 2 9
Yoo ERIO O}
8 5 4 4
1 2 2) 3 (3) 4 4) 6
Which number will appear at '?’
12 30 2 9
4 @ 6 3 @ 25 4 @ 8 3 @ 6
8 5 4 4
1y 2 @ 3 () 4 4) 6
61. g @ o B,

(1)  9RERer FeRidIeT (Pasturella multicida) (2) g9 THTT (Brucella anthrasis)
(3) FGferad THT (Bacillus anthrasis) (4) FTFNETH TR (Clostridium sp.)
Causal organism of anthrax is

(1) Pasturella multicida (2)  Brucella anthrasis

(3)  Bacillus anthrasis (4)  Clostridium sp.
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62. FFH I fTFR U= TEH FOmen Howt it dienR foet 9w ?
(1) s () TEEEEEE
(3) HMEEN (4) igHIEFTEH
Which drug is given orally to AIDS patients with pneumocystic carinii infection ?
(1) Pyrimethamine (2) Sulfadiazine
(3) Peutamidine (4) Cotrimoxazole
63. ‘' fe=grean ST AW 7R W
1 T 2 N @) P 4 Q
Select correct option for the place of ‘ % .
B
5 M
* O
F
1 T 2) N G) P 4) Q
64. WIENAYS! HIVMT el T, F 2nfor &<l 7 Ffema d ?

1) ) @ ©) (4) Q(gD

Which of the following diagrams given below represents best the relationship among horses,
dogs and elephants ?

) @ @ ® @ Q@(D

P.T.O.
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65. AR e WEIHE! FIA bR H9l et A ?
(1) o9 qeq (2) <M g
(3) H¥AW H<d (4) =dd 9d ghR
For purchase of cow which type of loan is given to the farmer ?
(1)  Short term loan (2) Long term loan
(3) Medium term loan (4) All above type
66. ? UERIPIIS S qradr fasror TR,
(1) H (2)  sferet (3) = (4) FRER
is a place in Maharashtra having heavy rainfall.
(1)  Mumbai (2) Amboli (3) Panchgani (4) Kolhapur
67. TERIS IATEele & foreera gaifus omR.
(1) «dr 2) T 3) @ (4) i
In Maharashtra __ district has the maximum area under forest.
(1) Satara (2) Raigad (3) Thane (4) Gadchiroli
68. FRRIPM §F 2009 =1 12 =0 WEt@h fauras feeuma fadl ufean suear faga afeamw ?
1) 14 @ 09 @) 12 @ 11
How many women candidates got elected in 12" Vidhan Sabha General Election 2009 in
Maharashtra ?
(1) 14 (2) 09 3) 12 4 11
69. 3T TR Rauar Fomd YhTLE! STHd.
1) uwHL () uH. 3 HL
(3) 50 %A L. (4) FIHH
The electricity provided to our house is of the type
(1) A.C (2) A.C.and D.C.
(3) 50 Hertz D.C. (4) Magnetic
70. WRewdrel dfee weEr 8| Hrel e e,
(1) 1863 (2) 1865 (3) 1853 (4) 1858

The first railway line in India was started in the year

(1) 1863 (2) 1865 (3) 1853 (4) 1858



Admin
Line

Admin
Line

Admin
Line

Admin
Line

Admin
Line

Admin
Line


DPS 21

71.  @eiel HEAHTE O .
4,3,12,9, 306, 81, ?
1y 72 (2) 108 (3) 64 (4) 124
Complete the following series.
4,3,12, 9, 36, 81, ?
1 72 (2) 108 (3) o4 (4) 124

72, RIS TR Haemen foam w&a fae=n snadieht Hay STt dieft et Hrow! ? @E@T
MIEERREE:
1) E:] (2) E:‘ 3) E:] (4) ‘Jj

Considering the relationship between figures, identify the fourth figure related to third
figure :

MEEERNEE:
1) j] (2) E: 3) E] (4) dj

73. <zl o1 TTEeh feT TN S S,
(1) 26 AR (2) 26 feder (3) 27 fed® (4) 30 A
Every year the consumer day is celebrated on .
(1) 26th November (2) 26t December (3) 27th December (4) 30t January

74, 51 USIA ANd GEAAMATH TS FHIF M. T GG fohdal s 318 ?
(1) 25 2y 27 (3) 26 (4) 24
If 51 commandos are in one line, Surjeetsing is at centre; then what is the serial number of
Surjeetsing in the line ?
(1) 25 (2 27 (3) 26 (4) 24

75. ST & T ST FHAARS B,
(1) Seea-g (2) SeHE-9 (3) SaTgE-a (4) SeTHE-F
Night blindness is caused by the deficiency of .
(1) Vitamin - D (2) Vitamin - B (3) Vitamin - A (4) Vitamin - C

P.T.O.
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76. UM AHR 1 100 FATH STHOTN RS H1d o ?
(1) Yeweme (2) afegen () e
(3) fawma a&g A (4) AT HIVTART AT
What is the name of science that studies molecular size from 1 to 100 nanometer ?
(1)  Microscience (2) Nanoscience
(3) Macroscience (4) None of these
77. TR, < foamet 3a oS! TyehTaean Higen wHong Riged .
(1) g (2) wrenfa (3) el (4
In Maharashtra, seed of _____is distributed on large scale than any other crop.
(1)  Groundnut (2) Soybean (3) Mustard (4) Castor
78. g YAIHIEd! TRI&T SToIAT Femi s Furrd ?
(1) e fom (2) =T TN
(3) Fed T fEm (4) <o fm
What are the Laws of revolution of planet around the Sun are called ?
(1) Faraday’s Laws (2) Newton’s Laws of motion
(3) Kepler's Laws of motion (4) Lenz's Law
79. YRS =1 ST IO W@ T HI 7

(1) foe (2) e (3) wiE (4) ST
Which is the main country imports tea from India ?

(1)  Britain (2) America (3) France (4) Japan

80.

THY &1 GRITILT S MR, TY TYHE S AR, ol HAYe] 39 o, Ty YEey 39 o1, W
FTeATIEE gaid ST ki ?
(1) T (2) T (3) T (4) T

Ramesh is taller than Suresh. Suresh is taller than Naresh. Rajesh is taller than Mangesh.

Mangesh is taller than Suresh. Then who is the shortest among them ?

(1) Mangesh (2) Naresh (3) Rajesh (4) Suresh
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81. A MFdrl FHae & :

(1) @O 2) 3) @ OO0

Choose the proper related diagram from below :

Professional, Carpenter and Tailor.

M @D 2) (3) @ OO0

82. v fri (TT5e7) 42 Tesisd o {1 Bl 2
(1) R (2)  ofediaTEA (3) FHALRA (4) HWA

Which pigment causes the induction of red colour in fruits ?

(1) Lycopin (2) Anthocyanin  (3) Xanthophyll (4) Carotene
83. WERIN 9l AfeswRigE! 9rmg STHuI &5 org =L.fE . o,

(1) 3.01 (2)y 1.12 (3) 0.19 (4) 4.0

The area suitable for marine fishing in Maharashtra is lakh sq.km.

(1) 3.01 2y 1.12 (3) 0.19 (4) 4.0

84. IV HIA YA I Ie9el wIfTeh TR FEATheS 3T9d 7

(1) Tos! &t (2) 9™ HK (3) FIEE F (4) T B
What taxes are levied and income of that goes to local administrative bodies ?
(1) Sales tax (2) Income tax (3) Professional tax (4) Octroi

85. WRdId A=A FHfeaisal AR Wieeideh! 10T Tafd et 3R ?
(1) <9< SEYmE, T 9 THIAd ardl 9 o &0 HI,
(2) YR SRid ATfeh SYMEER! g o FaAr@! JEiTd 6o
(3) Fa FaeE g deden fEfa s
@) afiew TafeRoT W FET URON AT S0
Which one of the following has been wrongly listed as a duty of Indian citizens ?

(1) To uphold and protect the sovereignty unity and integrity of the country.

(2) To promote harmony and the spirit of common brotherhood among the people of
India.

(3) To practice family planning and control population.

(4) To protect and preserve the natural environment.

P.T.O.
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86. TTHIV foehre FRIHHIATA TINURGTH! TS o SATEN SHeft 3 ?
(1) =it I (2) aftie Fea T I
(3) = A I (4) T THE
What is the basis to identify beneficiaries under the rural development programme ?
(1)  Annual income (2) Annual family labour income
(3) Annual labour income (4) None of the above
87. UERM AL @ 9 f TH = T W WS FaEe! ned .
(1) 5 (2) 50 (3) 500 (4) 1000
Treatment with sodium hypochloride @ ppm helps to remove clogging of
drippers.
(1) 5 (2) 50 (3) 500 (4) 1000
88. 1 Ukl UKl Wil Tenfeh el waifg Tegdl. A v st
(1) Sgad TEe gidr ) fan. e gl
(3) st ete | (4) A GFTER gied
Which of the following committee was not concerned with local self government ?
(1) Vasantrao Naik Committee (2) V. M. Dandekar Committee
(3) P.B. Patil Committee (4) L. N Boﬁgirwar Committee
89. ‘Tefeud Afauym o1 dw sfed’ = T SIo el ?
(1) AW T (2) T AR
(3) . dereRe v (4) HFSS TEA
Who established the ‘Industrial Association of Western India ?
(1) M.G. Rande (2) G.G. Agarkar
(3) Dr. Panjabrao Deshmukh (4) Mukundrao Patil
90. fir W e ¢
09, 10, 16, 36, 81
(1) 09 (2) 10 (3) 81 (4) 16

Find out odd figure :
09, 10, 16, 36, 81
(1) 09 (2) 10 (3) 81 (4) 16
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91.

25

TSH 1 Vst WikH Hal | ?

(1)  oiFerad d fefrefe fagm

(2) SfFEmEe S ferew fagm

(3) ofFEme g fefrde=dt fagm

(4) @TIHT FHIOAL TEL

What is the meaning of AIDS ?

(1)  Acquired Immuno Deficiency Syndrom

2)  Acquired Immuno Defference Syndrom

(
(3)  Acquired Insulin Deficiency Syndrom
(4) None of these

92.

wiefte st Frt BT T 2

1) 9 (2) 10 (3) 11 (4) AT AES

How many triangles are there in the following figure ?

I 9 (2) 10 3) 11 (4) None of these

93.

T, TRy, Sfeshi o AP fiere 3 =g goEnd &I B ?
(1) gaes S (2)  wTen g
(3) TM.F. e (4) I foaw

Who was the proponent of the four-point formula (chatu : sutri) : Self Government (Swaraj),
Use of Domestic products (Swadeshi), Boycott (Bahiskar) and National Education (Rashtriya
Shikshan) ?

(1) Subhash Chandra Bose (2) Mahatma Gandhi
(3) G.K. Gokhale (4) Lokmanya Tilak

P.T.O.
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26 DPS -
gfgen Eldia a9y T 9397 g8l e 1 fead v oieEl.
T T w7
(1) e (2) SEUEA (3) HIE (4) =
Considering the relation in the first pair, find the missing word in the second pair :

Eyes : Spectacles : : Ear : ?

(1) Earring (2) Hearing Aid (3) Cotton (4) Spectacle
95. | AigAT THU Yehg Tl ?
(1) 2592000 |7 (2) 2678400 9T
(3) 3600000 €%7 (4) 6000000 HHT
How many total number of seconds in the month of March ?
(1) 2592000 seconds (2) 2678400 seconds
(3) 3600000 seconds (4) 6000000 seconds
96. AN YN Hid ST N e TvEHEe e T T ST ATl Hivl few o1 ?
1 (2) s (3) T (4) =
If monk doing Shirshasan facing towards west, then which is the direction on his left
hand ?
(1) East (2) North (3) South-East (4) South
97. fori=t A srehieew siiefas de win efw wodfa fag 49 fasyg fAead. @@=l et
N SAF WICATIh] HI0Cl 9T ATE ?
(1) Fs (2) e (3) il 4) FuEm
Leander Paes won mixed doubles championship in Australian Grandslam recently. Which
of the following countries is his partner Cara Black belonged to ?
(1) England (2) Zimbabwe (3) New Zealand (4) US.A.
98. AR AL YU {hed HEHaT IGHEA vl Fed ?

(1) SAHary s=[ ) fefed $aR
(3) e (4) A HAR
Who inaugurated the 8" Pune International Film Festival ?
(1)  Amitabh Bachchan (2) Dilip Kumar

(3) Dev Anand (4) Manoj Kumar
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99. ‘‘qaUT 9 sfugeR g fawg wod € RS fogm g’ ¥ ®Ivi wew IR
1) sl effraR (2) I S
(3) e 4) TR
Who has said that, “The revolt against prejudice and superstition is science” ?
(1) W.C. Ampere (2) Francis Bekon
(3) Conant (4) Roger Bekon
100. FERIY AHAAT STTART TLA&T M FqEai= THUEH IV HIAT ?
(1)  Rar et (2) TEREN T
(3) TR YEAHH (4) WA YagHH
Who appoints the Chairman and Members of Maharashtra Public Service Commission ?
(1) President of India (2) Governor of Maharashtra
(3) Chief Minister of Maharashtra  (4) Prime Minister of India
101. dfecan U= fEsH Qiud= 1eget 107 gia ?
(1) ST T88 (2) QuEg a9
(3) RN T (4) v M
Who was the chairman of first National Planning Commission ?
(1) Jawaharlal Nehru (2) Subhash Chandra Bose
(3) Sardar Patel (4) Mahatma Gandhi
102. FIVET STARTLE FAVIAER G A= gaed fHesd ?
(1) 1SO—-9000 & BIS—14000 (2) 1SO-8000 & BIS—05
(3) 1SO-7000 & BIS—06 (4) 1SO-5000 = BIS—07
By which international certificate special import concession can be achieved ?
(1) 1SO—-9000 and BIS—14000 (2) ISO-8000 and BIS~—05
(3) ~ ISO—-7000 and BIS—06 (4) ISO-5000 and BIS—07
103. TeieTdeh! SHIVMdT ¥1q T o el ?
R, WM, s, T,
1) W (2) €M (3) @S (4) TYSR

Which of the following do not belong to the group ?
Mercury, Gold, Iron, Sulphur.
(1) Mercury (2) Gold (3) Iron (4) Sulphur

P.T.O.
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104. EiTds! STASHICHS IMEF IV ?
(1) foemefl ety fraw wim,
(2) foeneft vy FraET =men T Sl
(3) foreneft sty Framien @A SteE ST Sl
(4) foeneft wreta fraw sraed.

Which statement is related to application objective ?
(1) Student tells scientific rules.

(2) Student explain scientific rules definition.

(3) Student apply scientific rules in his life.
4)

4 Student recall scientific rule.

DPS

105. 399 (?) fagrean SFft Sivrdt Sen aga ?

35
21 22
? 31
28 29
15
(1) 34 (2) 29 (3) 19
Which number will appear at ‘?’
35
21 22
? 31
28 .29
15
(1) 34 (2 29 (3) 19

39

39

106. EITET AES IVl Tgdia shall W 2

(1) @ (2) Wi e
(3) wm (ga) s 4) FHAEn
Which method is used for planting teak wood ?

(1) By sowing seed (2) By Branch

(3) Stamp method (4) Grafting
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107. d=mEd Qi 3caeme /1 HIo7d ?
(1) =Ru (2)  STRId
(@) S # (e 3) 4) ol T wEl e
What are the income sources of Panchayat Samiti ? Choose correct option.
(1) House Tax (2)  Octroi
(3) Land Tax (4) None of the above
108. HERISZIIS IAT@Teiel &= Tsar=a1 Aiiifetss e % g,
(1) 50 (2) 75 (3) 40 4) 15
Forest area in Maharashtra is % of its geographical area.
(1) 50 (2) 75 (3) 40 (4) 15
109. 9T Sh(d
/\ | AN (L) 7
IR ATHG
(1) @) (3) (4)

Problem figure :

/\ /N (L) o ?

Answer figure :

/1120 O A

P.T.O.
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110. St 9 ¥ =1 1Y F1F ?
(1) ToEe T wiaad (2) Tfafash fefea fafen
(@) SHfew o afdad (4) ToEa Qg fafes
What does GPS stand for ?
(1) Global Patent Services (2) Galileo Physical System
(3) Genetic Preparation Services (4) Global Positioning System
111. WA ‘T3 aTfefer eiror’ degr wfew wt ?
(1) 71990 (2) S 1991 (3) [T 1992 (4) [T 1993
When did India declared ‘New Economic Policy” ?
(1)  June 1990 (2)  June 1991 (3)  June 1992 (4) June 1993
112, ‘st g2 = SIwon v AT w0 e ?
1) =hen (2) e (3) wer= (4) W@
In which plan ‘Garibi Hatav’ slogan was announced ? | ‘
(1) Fourth (2) Fifth (3) Sixth (4) Seventh
113. 7 2009 =1 Ffafad ' AEE’ EFR MH0 SHNSIEHEET S0l YRATS SIS FREwas
frrezren ?
(1) BT IEHT (2) 3O BN @) feu sen (4) & A
Which Indian social activist got the prestigious ‘Ramon Magassase’ award for 2009, for
development of rural communities ?
(1) Medha Patkar (2) Anna Hajare (3) Deep Joshi (4) Baba Adhav
114, G HIVIE IESTH RA Ie JVATHIRS! o faT =8 49 e doam Sam €faa

F TR ?
(1) e ferr | (2)  qH9 GO
(3) W T qEw (4) TR THE G

A biotechnology park at Chennai supported by department of biotechnology, promotes
biotechnology based entrepreneurship :

(1) Among young women (2) Among young men

(3) Among aged men and women  (4) None of these
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115. ‘‘GieR fao Rfewa po’’ <t Fefdt wioft et oy ?

1) G st ) TSz O
3) Wz wEr 4) fosa wea
Who has manufactured “Solar chill vaccine cooler” ?
(1) Sudeep Banerjee (2) Rajendra Shende
(3) Surendra Prasad (4) Vijay Bhatkar
116. FqHaed 1 Welte & AR Taifeed 3,
(1) e (2) e @y feg (4) wh
Among the fruit crops has the highest area in Maharashtra.
(1) Mango (2) Banana ~ (3) Sapota (4) Citrus

117. SIORT Ger AHO SETdTe fafad wen qefaut RreR e =uE &1 #d ?
(1) e (2) Fered o o S
(3) WeIF HfF gfem 4) =ow wd
Which of the following institution acts as an apex institution for the fulfillment of Financial

needs in rural area ? '
(1) NABARD (2) Reserve Bank of India
(3) State Bank of India (4) All of the above

118, FHIU[T I TSR ULHhT 1 MR q@ER a1 I a9 fondia Feft ?

(1) ¥Rd (2) W= fa=A (3) Wmn (4) A
The scientists of which of the following countries have developed Oral Cholera Vaccine ?
(1) India (2)  United Kingdom (3) Russia (4) TJapan

119. TERTEA |7 2008 — 09 Hed SIS QU ISl SNEmorae foheft et 2

(1) 2457 (2) 120 9™ (3) 180 TiH (4) 150 7w
How much milk was available per capita in Maharashtra during 2008 —09 ?
(1) 245 gram (2) 120 gram (3) 180 gram (4) 150 gram

120. FERIETS fSIeRmiuesan T&d seR! T et S0 wd ?

(1) &% TFR 2) TF THR

() foemfier (4) faurha s

Who appoints the Chief Executive Officer of Zillha Parishad in Maharashtra ?
(1) Central Government (2) State Government

(3) District Collector (4) Divisional Officer

P.T.O.
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121. WERTENIA Yeieriet v fereema ffe am R fasien et e simed o7 ?
(1) 9@ (2) 3 (3) T (4) IR
In which of the following district of Maharashtra the maximum number of villages won
Nirmal Gram Puraskar ?
(1) Satara (2) Thane (3) Ratnagiri (4) Kolhapur

122, PR & fooe fHem vgdi=n oadd sedm qoar fodt <o a9 2 ?

(1) 103 15% (2) 154 20% (3) 251 30% (4) 281 56%
How much water is saved due to adoption of sprinkler and drip irrigation systems ?
(1) 10 to 15% (2) 15 to 20% (3) 25 to 30% (4) 28 to 56%

123. SHAL =] W QIeiel ¥eF ITSA.
(1) = (2) Rl (3) TIER = (4) wfgen
In the Bank current account is opened by the following factor.

(1) Businessman  (2) Farmer (3) Salaried class  (4) Woman

124. SR 2.1=4.41

dW31=?
(1) 9.62 (2) 9.10 (3) 9.61 4) 9.91
If 21=4.41
Then 3.1=7
(1) 9.62 (2) 9.10 3y 9.61 4) 991

125. qeld AFdId fARIvde i UShROl’ &ed.  ddeldiel 3ish ' Tesy’ STed R SAaarie s
‘gige’ aRd. X Ut etaey Tt orea ?

1) 1 2) 2 3 3 (4) L TR
Digits in the triangle are politicians. Digits in the circle are scientists and digits in the
rectangle are doctors. Then how many doctors are politicians ?

'V

1) 1 (2) 2 3) 3 (4) None



Admin
Line

Admin
Line

Admin
Line

Admin
Line

Admin
Line


DPS

33
126. Yol STehdidiel st dean fodt ?
A ‘
1)y 6 (2) 18 (3) 20 4) 21
How many angles are there in the given diagram ?
A

(1) 6 (2) 18 (3) 20 4) 21
127. 1951-52 A& THU TV el RaSTd HeeHs LA Qe a1l gidl.

(1) 19% 2y 7% 3y 12% (4) 31%

Institutional sources accounted following share in the total rural credit in the year

1951-52.

(1)_ 19% (2) 7% 3) 12% 4) 31%
128. WRATdte 39T Y@ R WHIOT WWEEd 3TR.

(1) 23°30 (2) 68° 45’ (3) 82°30° (4) 97° 45’

Degree longitude is a standard Meridian of India.

(1) 23° 30’ (2) 68° 45 (3) 82° 30’ (4) 97° 45’
129. WS HIAMA T

(1) TSR I 1€ B (2) omfefe fommar &t g

(3) T = fresd (4) it wd

Due to progressive tax system :

(1) Government’s income is increasing (2) Inequality is reduced

(3) All get justice (4) All of these

P.T.O.
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130. TSN 7O HFTE TR UM HRGTATH Ferom=an . 5:07d 1 31718 ?
(1) Sfa Feom Sfasw gere.
(2) foFdiena ot wREAS | gear g
(3) IS SO T
(4 WA
What is the Effluent of Pulp and Paper Production Industry contains ?
(1) Biodegradable materials in the soil
(2)  Mutagenic and carcinogenic compounds
(3) Volatile substances :
(4) Slurry
131. U Hichfass 989 ‘ENGLISH’ @ ¥ ‘FGNILHS' o7& feifgen Sl @3 wre Wichfder wmaa
‘SELFISH' @1 ¥is %1 feifeer Sméet ?
(1) TLEIFHS (2) ILEFIHS (3) RLEIFSH (4) TLEIFSH
In coding language 'ENGLISH’ is written as 'FGNILHS'. Then how 'SELFISH’ will be
written ?
(1) TLEIFHS (2) ILEFIHS (3) RLEIFSH (4) TLEIFSH
132, HERIPA AR JTHEE J@ S0 76 ?
(1) JmHEE (2) wEH (3) IUEA (4) daEt
Who is the administrative head of Gram Panchayat in Maharashtra ?
(1) Gramsevak (2) Sarpanch (3) Deputy Sarpanch (4) Talathi
133. &S Y01 TR HIGAT HS AN TS 8 HI0A] THN=AT FHEETSd WSl
1 fgd= 2) v (wiEfaw)  (3) HEwE™ @) &=
While preparing the loan proposal in which category the loan application is
considered ? )
(1) Second (2) Initial | (3) Important (4) Third
134. TR 1 fyehTe ToiaiTd ITEH § TSl aTaXge STfye o1,
(1) 2 ™ (3) (4) el
In Maharashtra the domestic production of crop is higher than domestic
consumption.

(1) Rice (2) Wheat (3) Jowar (4) Mustard
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135. IR 4 faae fa=m qgdi=n srace Fegm e SeameAm % 9E BN
(1) 12d31 (2) 10915 (3) 15420 (4) 35 9&T 3fyw
By using sprinkler and drip irrigation systems there is % increase in the crop
yield.
(1) 12to 31 (2) 10 to 15 (3) 15to 20 (4) More than 35
136. WERTSI WTHIA STqr=A1 TaharIqaR, feie Tl & ranom: % 3.
1y 29 — 40 (2) 40 — 45 (3) 55 — 58 (4) 65 —-70
As per the percentage distribution of land utilisation in Maharashtra, the net sown area is
about %.
(1 29 -40 (2) 40 — 45 (3) 55 — 58 4y 65-70

137. U9 YA Qe e v et gl TMHEy=a1 FLqareT Siv STHdl 2
(1) 3U-TEd (2)  UHYERICE 98 e
(3) U™ Haw (4) wEH
Who is preside the first meeting of Gram Sabha after General Election of Gram
Panchayat ?
(1) Deputy Sarpanch (2)  Sr. member of Gram Panchayat
(3) Gram-Sevak (4) Sarpanch

138. S UeT @ qity 22 4. H@e O @ s ke R arlde ?

77
1) 77 9.2 2 - .2 (3) 384 W2 (4) 154 972
If circumference of the circle is 22 cm then what is the area of the circle ?

77
(1) 77 cm? @ - cm? (3) 38.4 cm? (4) 154 cm?

139. GRAAIH! HIQ SR AfYeeh qIHH G d FAHA SQd HRON AT 2

(1) € TH & S (2) HEA SEAFES I
(3) Shrerdre 4) fAoA sers

Which is not a cause for present global warming and climate change ?
(1) CFC emission (2) Carbon dioxide emission
(3) Deforestation (4) Methane emission

P.T.O.
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140. T 2 S,
AFZ BGY CHX DJW
1) ) ) (4)
Find out the odd one :
AFZ BGY CHX DJW
ey (2) ®) (4)
141. THT T00 YAh! 10 Fe FARER T FE 3. IR Ifgcdn 9 == Frefdia Aa fhdl Fe o764 ?
(1) 50 (2) 40 (3) 45 (4) 55
If there is distance of ten feet between two trees planted in a row, then what is the distance
between first tree and fifth tree ?
(1) 50 (2) 40 (3) 45 (4) 55
142. 1 ® 1999 Jsl AERIYE AOREH S feen=n ffdfdt amett, o 3R
(1) fEmett = Tifean (2) igER o amvH
(8) e TR (4) Fyg = e
On 1%t May, 1999 two more districts were established in Maharashtra state are
zl—)__fH—lr_'t;)Tl and Gondia (2) Nandurbar and Vashim
(3) Bhandara and Gondia (4) Sindhudurg and Jalna
143. WEREA Teadday fagd smomrn gfafei=T gean fod ?
1y 20 o (2) 23 (3) 15 (4) 19
State total number of members elected to Rajya Sabha from Maharashtra is
(1) 20 (2) 23 (3) 15 4) 19
144. HEIS=A1 JoCR Teodeiel FeAwg shivft el ?
(1) T WiEh (2) i JEERE AeEH
(3) faga wwsh R (4) T4l wd
Who did the Satyagraha of Chawadar Tale (Tasty Lake) at Mahad ?
(1) Mahatma Gandhi (2) Dr. Babasaheb Ambedkar
(3)  Vitthal Ramaji Shinde (4) R.D. Karve
145.

@refte foahTof Taerseia qerriet= (IMF) Fied e,
(1) ¥g (2) weq (3) =ifyiTE (4) A

The office of the International Monetary Fund (IMF) is at the following place :
(1)  Mumbeai (2) London (3) Washington (4) New York
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146. SSEEEA @iderden! wor fau fik=m @Y odw ?
(1) TR Jo d Th gorl 3dd,
(2) T 65 TUU A T
(3) T HE TG A
(4) T AT Tehan 71q st
Which sentence is appropriate about grandfather ?
(1) He has one son and one daughter.
(2) He is more than 65 years old.
(3) His hairs will be white.
(4)

4) He had grandson or granddaughter.

147. ST J=alH qror=l {1 e &8 ?
(1) WHE(ERE
(2) @i =g @ gaEe g
(3) TN Y FHAEHEYE g5 FS
(4) AT A
What is the title of eleventh five year plan ?

(1)  Human development

(2)  Social justice and equality with development
(3} Towards faster and more inclusive growth
(4)  None of these

148. STYHE] HIET YR HIVMER T&dT ?
(1) SEH (2) Torshan (3) URH (4) o wd
Who bears the burden of indirect taxes ?

(1) Manufacturer (2) Seller (3) Consumer (4) All the above

149, @ T T, T A R TR S R He M S S T E we g

3 ?

(1) =<t (2) e (3) < (4)  TOTER R
Your father says that, he has three sons and you say that, you have two brothers. Who is
wrong ?

(1) Father (2) Sons (3) Both (4) None

P.T.O.
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WeAteTdeht v TTEg & IS OTelt Teuet o1, SF. 3. 1., Fom i faga o
(1) femrsl afw sfem (2) o 1w weR
(3) T T AW (4) TR IR FET
Which of the following famous book is written by former President of India
Prof. Dr. A.P.J. Kalam ?
(1) Discovery of India (2) Wings of Fire
(3) A Call to Honour (4) My Experiment with Truth

151.

FHTACATCAR HTHTET THh AT FION ARATAA gfeet T HIod ?

(1) WBRIE (2) WY (3) W YW (4) @

Which is the first state in India approved right to work ?

(1) Maharashtra  (2) Uttar Pradesh (3) Madhya Pradesh (4) Kerala

152.

6893 U X > — vk T 2547 WIS + O — <, WG > — < AT IVl G&AT SvifoIeil St ?
(1) 5747 (2) 5849 (3) 5797 (4) 5897
If 6893 means X > — ¥ and 2547 means = (®) — <, then (&) > — < indicates the number

(1) 5747 (2) 5849 (3) 5797 (4) 5897

153.

IR T 15 (5) & FHeld 93 o1 SEAGEEH Fuifase Hivgn e sarant Jefors s

ISR gRd AT Jia1 fohar sTqgfaa Sird! stean Sl AR ATH
Thesre.

(1) THH ) St drerudia

(3)  USImH (4) & AmTEEA

Article 15 (5) which was inserted with the 9374 Amendment, provides reservation for
socially and educationally backward classes of citizens or for scheduled caste or Tribe,
paved the way for

(1) Political Reservation (2) Reservations in educational institutions
(3) Reservations in employment (4) Reservations in Railway seats

154. fedsR 2005 #eA Wi SAMR Hee=a1 Aemel=! Yozl 455 ERIEIGHN
(1) Fafreer (2) v ONESE (4)  EH

The final round of trade negotiations of World Trade Organisation (WTO) was held in
December 2005 at

(1) Geneva (2) Japan (3) Uruguay (4) Hongkong
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155. T e Wik ey g
(1) Sf. IEER sTsgHt 2) <. IE 96T
(3) A= S FIAr (4)  TRTCHT i
was the president of Constituent Assembly.
(1) Dr. Babasaheb Ambedkar (2) Dr. Rajendra Prasad
(3) Acharya J.V. Kriplani (4) Mahatma Gandhi
156. WRAeTdsh! HIvM T oY e ?
(1) 1991 (2) 2001 (3) 2010 (4) 2020
Which is the leap year from below ?
(1) 1991 (2) 2001 (3) 2010 (4) 2020
157. SN a9 TERTE faum 99q waifys 9he STHER g ?
(1) 1962 (2) 1980 (3) 1972 (4) 1999
In which year there were maximum number of women MLA’s in Maharashtra
Assembly ?
(1) 1962 (2) 1980 (3) 1972 (4)y 1999
158. § 1962 HEA WRATSR I Fel Hell qog] MRATS HIE01 7oAl i Bl 2
1) T=&. FOETT (2) SRS T
(3) HER @uiET (4) 1§ SSEAH
Who was the Defence Minister of India in 1962 when China attacked India ?
(1) V.K. Krishana Menan (2) Y.B. Chavan
(3) Sardar Swarnasingh (4) Babu Jagjivan Ram
159.

(1) % (2) % (3) % (4)

»O

Problem figure :

CTRY

Answer figure :

P.T.O.
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160. U T ®e=A1 QU HaaTeRomol fohet 70 @ar 9ar gl ?

(1) 100 74 (2) 250 U\ (3) 350 ¥R (4) 400 7|

On an average how much khoa is obtained from one litre of Buffalo milk ?

(1) 100 gram (2) 250 gram (3) 350 gram (4) 400 gram
161. YRATIA Sgarel S HIT TR,

(1) T (PIERIH) (2) R ()

(3) (4) THw

Majority of Indian soils are low in .|

(1) Phosphorus (2) Potash

(3) Nitrogen (4) Sulphur

162. HET=T ST ST IqH ARAHST FTHG 8 ?

(1) Tt (2) SAfgEen (3) ST T (4) =09 94
Which breed of sheep is famous for quality wool ?
(1) Nilgiri (2) Avivastra (3) Kashmir Merino (4) All above

163. WIATTU! HIVET AIRIRIE o1l Hd 3T ?

(1) SITRAA Ahe ol (2)  HicEl Hell

(3) afiter ary Sl (4)  FATE™ F

Which is the source of non-conventional energy, out of the following ?
(1) Fire wood energy (2) Coal energy

(3) Natural gas energy (4) Solar energy

164. S 3T Weh! ar9Tel 20 UM faAfgdl. o @9 45 9 fafevary foedt 9« ame ?

(1) 1494518, (2) 2930 fA.

(3) 27™151H (4) 27935

If Amar writes 20 pages in one hour. Then how much time will he require to write
45 pages ?

(1) 1 hour 45 minutes (2) 2 hours 30 minutes

(3) 2 hours 15 minutes (4) 2 hours 35 minutes

165. &= AR VITONEd HIOIHUA] I SO hiddl aruddrd ?

(1) RE! Fi@Hl (2) TGl hIsHl
(3) TGN hieaHT (4) WOl e
The charcoal used to decolourise raw sugar is :

(1) Wood charcoal (2) Sugar charcoal

(3)  Coconut charcoal (4) Animal charcoal
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166. WRANI ufgd AigA 3-FIS 1 fewml g FXvamE e ?
(1) TR (2) e feeet (3) STEHEETS (4) NI
Model e - court in India was launched in .
(1) Nagpur (2) New Delhi (3) Ahmedabad (4) Bhopal

167. TRl vefdidiel weia 3= et sivd 31 2
(1) FogR (2) TR (3) Werdm 4) %,
Which is the highest peak in Nilgiri Mountain ?
(1) Kalsubai (2) Gurushikhar (3) Dodabetta “4) K,

168. ufgen daafisr dieMa qEicTdeht hIvRaT M1 31fHe WHT= <Uamd 31t 2d ?

(1) T3S ) It s fa=m

(3) aweqH (4)

Which sector has given priority in first five year plan ?

(1) Communications (2) Agriculture and Irrigation
(3) Transport (4) Electricity

169. IR0, SN Tenterior 3T Se= aEye WielieTien! hIvT=AT FHieh YereHT=aT AR Yo
= ?
(1) dsft (2) = SE (3) A Sfted (4) TRISOR gIOlt
Growth of Urbanization, Industrialization and agriculture results in destruction of natural
habitat of which of the following ?

(1) Birds (2) Wild life (3) Fishlife (4) Reptiles
170. TS TTOHT H el e,

(1) 1980 ) 1981 3) 1982 (4) 1983

NABARD was established in the year .

(1) 1980 ) 1981 (3) 1982 (4) 1983
171, 09Tq ‘Erese |9’ <t s T e,

(1) = 1, TS (2) rRfEaaTal

(3) I SRS (4) A e

‘Sarvajanik Sabha’ was established in Pune by .

(1) Justice M.G. Ranade (2) Lokhitwadi

(3) G.G. Agarkar (4) G.V. Joshi

P.T.O.
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Had=a1 9§ aTgM fhHdaR = Wael W eldeh] HIvY BIEd ?
(1) gt (2) THER (3) HUTHI (4) Tawd

Who will be benefitted by consistent and fast increase in prices ?

(1) Lender (2) Serviceman (3) Borrower (4) Farmer
173. 'ggHc sEwd’ T & Hal.
(1) g HEWS (2) WA UEiE
3) el %d (4) &I ISTERE <IE
Shradhanand Chhatralaya was started by .
(1) Shahu Maharaj (2) Bhaurao Patil
(3) Maharshi Karve (4) Dr. Panjabrao Deshmukh
174. VAL AR AR FTAT TeeTdeh! ol IRomd gl ?
(1) =e o (2) AT
(3) Y THEH SEH (4) TTEadre giHes ST AAATR
Out of the following, which is the effect due to the use of pesticides in agriculture ?
(1)  Air pollution (2) Soil erosion
(3) Harmful health hazard (4) Extinction of rare species of flora
175. 'S Tha iR g1’ (TT T ) A 3 = ve g foran,
(1) ot foe (2) «@Ts (3) TR (4) rerRTa
Name the city where National School of Drama (NSD) is located :
(1) New Delhi (2) Lucknow (3) Bengaluru (4) Kolkata
176. TN Gicierde! vl feaw grfsre =ma fa7' wH 9oRT el SR 3R ?

(1) 15 M= (2) 26 AR (3) 26 &t (4) 03 9\=
Which one of the following day will be decided to be celebrated as ‘Social Justice Day” in
Maharashtra ?

(1) 15 August (2) 26 January (3) 26 July (4) 03 March
177. STuREWda Faune gt @i JHTol STea.
(1) 0 (2) 10 (3) 100 (4) 1000

The index number in the base year is always in the following manner.
1) 0 (2) 10 (3) 100 (4) 1000
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178. TERIM ~Ei{eh{caT STeT=Y 3T qroft faumma watfus oTR.
(1) focd (2) HIR
(3) S HERTE (4) wUBATSI
Naturally available water is the highest in region of Maharashtra.
(1) Vidarbha (2) Konkan
(3) Northern Maharashtra (4) Marathwada

179. 1958 Trelt ' wRae' @1 fohae fussfavm wermgier 9o guna 1o ?

(1) <. JaERd seeHT 2) i IERE v
(3) Hie HvE Hd (4) HFSUE TR
Which was the social reformer in Maharashtra to whom ‘Bharat Ratna’ was awarded in
1958 ?
(1) Dr. Babasaheb Ambedkar (2) Dr. Panjabrao Deshmukh
(3) Dhondo Keshav Karve (4) Mukundrao Patil
180. A ST T WIS S i 50 Twh SRR FEET Sl
(1) AR TS WS A (2) HITEIYE BAUA MG HRS
(3) TSR FANRE TAHATS (4) ifgeamEr deHt

About 50% reservation in employment for the bakward community was implemented by
in our state.
Raje Raghuji Bhosale of Nagpur

(1)
(2) Chhatrapati Shahu Maharaja of Kolhapur
(3) Raje Sayajirao Gaikwad of Baroda

)

Ahilyabai Holakar

181. facfiei fauq M eriis g Svam Ko,

1) 03 =RrE 2) 01 (3) 1.0 == (4) 07 R
The turn-on voltage of silicon PN junction diode is :
1y 03V (2) 01V 3) 10V 4) 07V
182, 1% 9 g JHoT e WG 3THa.
(1) <h1et T (2) e TR (3) Tt (4) &RIH I
type of soil consists with maximum quantity of Iron and Alluminium.
(1) Black soil (2) Alluvial soil (3) Laterite soil (4) Alkaline soil

P.T.O.
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183. g o 11 sfean gaaaTa FEs Hemysi & ?
1) &% R 2) @ e e gae sge,
(3) gl AR SHEER (4) af@ |d
How does the Reserve Bank of India control the credit money ?
(1) Bank Rate (2) Change in cash reserve ratio
(3) Open Market Operations (4)  All the above
P
184, I ‘a7 HAGATYTerar I’ A8 HIATH IO TA1 AT ?
(1) I gay (2) T v
(3) T Tere (4) SAfaged F
Which is the material used to increase the ‘gas sensing technology’ of gas ?
(1) Femto material (2) Nano material
(3)  Micro material (4) Ultrasmall particles
185. ‘I T AN el AT TEAHRTAT ATEH] 0T ?
(1) it fezor de (2) oot o wy
(3)  iHdt ferdr Hresaet (4) et fafaar wme 9 fafta rga
Who is the author of a book titled, "To the Last Bullet’ ?
(1)  Mrs. Kiran Bedi (2)  Mrs. Kavita Karkare
(3) Mrs. Smita Salaskar (4)  Mrs. Vinita Kamte and Vinita Deshmukh.
186. Wreflerdesh! v farderrrr=t et shdl ?
(1) g (2) fa
(3)  HawHr (4) TRl
Who appoints the Chairman of the Finance Commission, out of the options given below ?
(1) President (2)  Finance Minister
(3)  Prime Minister (4) Home Minister
187. YRR Haidish ArESEmie & fashrared! 4.
(1) el (2) W (@) W (4)
In India maximum cultivated area is under _ crop.

(1)  Jowar (2) Maize (3) Rice (4) Cotton

R AR AR
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188. ‘PVC’ ¥ V=8 W SENTd et e
(1) diclifeTa Hee (2) icfeTEd FINES
(3) WERfETRd RS (4) HEHETTEIT FATES
The word ‘PVC’ used in plastic industry stands for :
(1) Polyvinyl carbonate (2) Polyvinyl chloride
(3) Phosphovinyl chloride (4) Phosphovanadium chloride
189. FHWRET faER a1 HENTSK 77 frerraere &8 wgifus R,
1 ™ (2) e (3) W (4)
In Maharashtra the highest area is under on yearly basis.
(1) Wheat (2) Jowar (3) Rice (4) Bajra
190. UMYfdaiEre AHE SARITaS Hio ?
(1) =Ty ST (2) EH T
() E faex (@) R
Who is the pioneer of preventive medicine vaccine ?
(1) Charles Darwin (2) Louis Pasteur
(3) Joseph Lister (4) Bohr
191. SR ‘SCHOOL’ &N 19-3-8-15-15-12 W ‘POWER’ WUl
(1) 16-12-24-5-18 (2) 16-9-11-18-17
(3) 16-15-23-5-18 (4) 16-15-20-6-18
If ‘SCHOOL’ stands for 19-3-8-15-15-12 then ‘POWER’ stands for
(1) 16-12-24-5-18 (2) 16-9-11-18-17
(3) 16-15-23-5-18 (4 16-15-20-6-18
192. TiUTe gt @ AeRfgqarel’ a1 AEm I AATfghIgd fo@m e,
(1) 4w (2) THERT (3) gURS (4) <Hf
Gopal Hari Deshmukh wrote in with the pen name Lokhitwadi.
(1) Darpan (2) Prabhakar (3) Sudharak (4) Deenmitra
193. ER AIETAET T HAYd gahi=d] AN aTavard ST,

(1) 42 9 5= gEEt 1976 (2) 44 9 T SEKI 1978
(3) 524l "l gEl 1985 (4) 60 ol w1 SEET 1988
Right to Property was dropped from the list of Fundamental Rights by the
(1) 42"d Amendment 1976 (2) 44th Amendment 1978
(3) 52nd Amendment 1985 (4) 60t Amendment 1988

P.T.O.
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194. TR FHTA Ndh{l FHIATR! o] el AR el ?

(1) = 2007 (2) =¥ 2008 (3) a9 2006 (4) a% 2009
When did Government of Maharashtra declare the farmers debt waive scheme ?
(1)  Year 2007 (2)  Year 2008 (3)  Year 2006 (4) Year 2009

et fodear reRSariass w9 &. 195, 196, 197 = 39T 1.
WWWWWEWMUWWW%%

Aw s <fegoT W Ud YA | ufyem URed | ST 9RA
01 o (1) 40 37 35 27
02 T 06 26 76 86
03 A 98 83 71 04 21
04 Rl 01 07 03 11
Ll 130 141 118 145

Answer question number 195, 196 and 197 based on data provided below :

The statistical information about MPs elected from different parties is given in the table below :

Serial No.| Party Name | South India| East India | West India (North India
01 Congress (I) 40 37 35 27
02 BJP 06 26 76 86
03 Left Parties 83 71 04 21
04 Other Parties 01 07 03 11
Total 130 141 118 145

195. A THY fohdt GREER Hagd o ?

(1) 535 (2) 534 (3) 543 4) 524
" What is the total number of elected MPs in Parliament ? A
(1) 535 2) 534 (3) 543 4) 524

196. IR0 WRAKS TR WHIRTT HiIH Y441 THSRIH! Tohar] fehd! 3118 2
(1) 40.7 % (2) 20.7 % (3) 30.7 % (4) 40 %
What is the percentage of congress MPs elected from South India ?
(1) 40.7 % (2) .20.7 % (3) 30.7 % 4) 40 %
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197. S WER FagA SToTogr=A1 sTedid shivfel 9&iTe] gfeel shish armi ?

(1) <E 9& (2) WS (3)  IIH (M) (4) TR W
Which party stands first in getting the largest number of MPs elected ?
(1) Left Parties (2) BJP (3) Congress (1) (4) Other Parties

198. wva femer=an (2) ST % 3ge ?

3 7 11 15 19

10716" 23" 317 40"

L, 2B y 2 o B o 2
@ 50 @) 48 ) 49 @ 50
What will come in the place of (?) question mark ?

3 7 11 15 19

10716" 23" 31" 407"

2 2 , 2 o 2
50 48 ) 49 ) 50

199. SWO+H+P=39, M+ A+N=28 WM+A+C+H+I+N+E="?

(1) 43 (2) 53 (3) 64 (4) 54
fO+H+P=39 M+A+N=28 then M+A+C+H+I1+N+E="?
(1) 43 (2) 53 (3) 64 (4) 54

200. ¥ FHAR foom G TUHT 23 AR, W, WIS Halld Hi! §eAl hivw ?
1) 29 (2) 27 (3) 31 (4) 25
If average of seven sequencing odd numbers is 23, then which is the highest odd number

among them ?

1) 29 2) 27 3) 31 4) 25

-00o0-

P.T.O.
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HoAT HTUTEATS! ST / SPACE FOR ROUGH WORK





